*	LakeCounty
1	Division of Transportation

Summary of Bids Received

Project: Quentin Road Resurfacing

Section: 10-00090-14-RS

Description: along Old McHenry Road

Bidder Peter Baker & Son Company Curran Contracting Company	Address 1349 Rockland Road 286 Memorial Court	City, State, Zip Lake Bluff, IL 60044 Crystal Lake, IL 60014	Bond Bid Bond Bid Bond	Bid Price \$1,325,052.23 \$1,493,530.28	% Over/Under Eng. Estimate -30.91% -22.13%	\$ Over/Under Eng. Estimate -\$592,861.37 -\$424,383.32
Engineer's Estimate				\$1,917,913.60		
Design	IDOT(2)	Contract Bidder		ለGB then Plan Racl	·	
Finance	Bid Tab File	Resident Eng.		Administrative Assis	stant	
Construction	Project File	Request By Mail		Иgr Capital Prograr	nming	



Project: Quentin Road Resurfacing

Section: 10-00090-14-RS

Description: Resurfacing of Quentin from Route 22 to Old McHenry Road including 1000 feet along Old McHenry Road

Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mate	Curran Contrac	ting Company	Peter Baker & S	on Company
item ivo.	1 ay code		Quantity	Oilit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20200100	EARTH EXCAVATION	171.00	CU YD	\$25.00	\$4,275.00	\$19.25	\$3,291.75	\$40.00	\$6,840.00
		EXCAVATING AND GRADING EXISTING								
2	20200600	SHOULDER	52.00	UNIT	\$15.00	\$780.00	\$270.05	\$14,042.60	\$290.00	\$15,080.00
3	20400800	FURNISHED EXCAVATION	100.00	CU YD	\$20.00	\$2,000.00	\$63.50	\$6,350.00	\$46.00	\$4,600.00
4	20800150	TRENCH BACKFILL	40.00	CU YD	\$45.00	\$1,800.00	\$37.50	\$1,500.00	\$45.00	\$1,800.00
5	21301052	EXPLORATION TRENCH 52" DEPTH	10.00	FOOT	\$50.00	\$500.00	\$355.00	\$3,550.00	\$30.00	\$300.00
6	25200200	SUPPLEMENTAL WATERING	20.00	UNIT	\$200.00	\$4,000.00	\$0.10	\$2.00	\$0.10	\$2.00
7	28000305	TEMPORARY DITCH CHECKS	56.00	FOOT	\$15.00	\$840.00	\$13.50	\$756.00	\$22.00	\$1,232.00
8	28000510	INLET FILTERS	21.00	EACH	\$250.00	\$5,250.00	\$150.00	\$3,150.00	\$75.00	\$1,575.00
9	28100101	STONE RIPRAP, CLASS A1	55.00	SQ YD	\$50.00	\$2,750.00	\$37.00	\$2,035.00	\$95.00	\$5,225.00
10	28100801	STONE DUMPED RIPRAP, CLASS A1	20.00	TON	\$20.00	\$400.00	\$115.00	\$2,300.00	\$95.00	\$1,900.00
11	28200200	FILTER FABRIC	78.00	SQ YD	\$8.00	\$624.00	\$5.00	\$390.00	\$5.00	\$390.00
12		AGGREGATE BASE COURSE, TYPE A 4"	291.00	SQ YD	\$12.00	\$3,492.00	\$11.60	\$3,375.60	\$24.00	\$6,984.00
		PORTLAND CEMENT CONCRETE BASE								
13	35300400	COURSE 9"	186.00	SQ YD	\$40.00	\$7,440.00	\$70.00	\$13,020.00	\$54.00	\$10,044.00
14	40300100	BITUMINOUS MATERIALS (PRIME COAT)	6,517.00	GALLON	\$1.50	\$9,775.50	\$0.01	\$65.17	\$0.01	\$65.17
		MIXTURE FOR CRACKS, JOINTS, AND								
15		FLANGEWAYS	5.00		\$300.00	\$1,500.00	\$473.50	\$2,367.50	\$450.00	\$2,250.00
16		CONSTRUCTING TEST STRIP	2.00	EACH	\$2,000.00	\$4,000.00	\$1.00	\$2.00	\$1.00	\$2.00
		HOT-MIX ASPHALT SURFACE REMOVAL -								
17		BUTT JOINT	894.00	-	\$30.00	\$26,820.00	\$8.00	\$7,152.00	\$14.55	\$13,007.70
18		TEMPORARY RAMP	894.00	SQ YD	\$30.00	\$26,820.00	\$12.20	\$10,906.80	\$1.00	\$894.00
		HOT-MIX ASPHALT BINDER COURSE, IL-19.0,								
19		****	4,883.00	TON	\$65.00	\$317,395.00	\$62.00	\$302,746.00	\$53.75	\$262,461.25
		HOT-MIX ASPHALT SURFACE COURSE, MIX								
20	40603340		3,560.00		\$68.00	\$242,080.00	\$74.00	\$263,440.00	\$68.45	\$243,682.00
21		PROTECTIVE COAT	342.00	SQ YD	\$3.00	\$1,026.00	\$2.00	\$684.00	\$3.00	\$1,026.00
		PORTLAND CEMENT CONCRETE SIDEWALK 5								
22			277.00		\$8.00	\$2,216.00	\$7.00	\$1,939.00	\$10.00	\$2,770.00
23	42400800	DETECTABLE WARNINGS	30.00	SQ FT	\$20.00	\$600.00	\$30.00	\$900.00	\$40.00	\$1,200.00



Project: Quentin Road Resurfacing

Section: 10-00090-14-RS

Description: Resurfacing of Quentin from Route 22 to Old McHenry Road including 1000 feet along Old McHenry Road

Item No.	Pay Code	Description	Quantity	Unit	Eng Ect	Eng Estimate		ting Company	Peter Baker &	Son Company
item ito:	. uy couc		quantity	- Oille	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
24	44000100	PAVEMENT REMOVAL	435.00	SQ YD	\$12.00	\$5,220.00	\$13.25	\$5,763.75	\$16.00	\$6,960.00
		HOT-MIX ASPHALT SURFACE REMOVAL, 2"								
25	44000157		1,691.00	SQ YD	\$8.00	\$13,528.00	\$4.10	\$6,933.10	\$5.55	\$9,385.05
		HOT-MIX ASPHALT SURFACE REMOVAL, 4								
26	44000167	1/2"	30,179.00	SQ YD	\$16.00	\$482,864.00	\$3.80	\$114,680.20	\$3.35	\$101,099.65
		COMBINATION CURB AND GUTTER								
27	44000500	REMOVAL	54.00	FOOT	\$10.00	\$540.00	\$10.00	\$540.00	\$20.00	\$1,080.00
28	44000600	SIDEWALK REMOVAL	279.00	SQ FT	\$3.00	\$837.00	\$3.00	\$837.00	\$3.50	\$976.50
29	44201761	CLASS D PATCHES, TYPE I, 10 INCH	652.00	SQ YD	\$46.00	\$29,992.00	\$35.00	\$22,820.00	\$30.00	\$19,560.00
30		CLASS D PATCHES, TYPE II, 10 INCH	977.00	SQ YD	\$46.00	\$44,942.00	\$34.00	\$33,218.00	\$30.00	\$29,310.00
31	44201769	CLASS D PATCHES, TYPE III, 10 INCH	2,933.00	SQ YD	\$46.00	\$134,918.00	\$33.00	\$96,789.00	\$30.00	\$87,990.00
32	44201771	CLASS D PATCHES, TYPE IV, 10 INCH	1,955.00	SQ YD	\$46.00	\$89,930.00	\$32.00	\$62,560.00	\$30.00	\$58,650.00
		STRIP REFLECTIVE CRACK CONTROL								
33	44300200	TREATMENT	15,585.00		\$0.80	\$12,468.00	\$1.35	\$21,039.75	\$0.49	\$7,636.65
34	48100100	AGGREGATE SHOULDERS, TYPE A	207.00	TON	\$45.00	\$9,315.00	\$40.00	\$8,280.00	\$36.75	\$7,607.25
		STORM SEWERS, CLASS A, TYPE 1, 12"	41.00	FOOT	\$46.00	\$1,886.00	\$160.00	\$6,560.00	\$125.00	\$5,125.00
36	55100500	STORM SEWER REMOVAL, 12"	33.00	FOOT	\$14.00	\$462.00	\$47.50	\$1,567.50	\$40.00	\$1,320.00
		CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE								
37	60201340	24 FRAME AND GRATE	2.00	EACH	\$3,000.00	\$6,000.00	\$3,800.00	\$7,600.00	\$3,950.00	\$7,900.00
38	60406000	FRAMES AND LIDS, TYPE 1, OPEN LID	1.00	EACH	\$250.00	\$250.00	\$450.00	\$450.00	\$495.00	\$495.00
39	60406100	FRAMES AND LIDS, TYPE 1, CLOSED LID	2.00	EACH	\$250.00	\$500.00	\$450.00	\$900.00	\$495.00	\$990.00
40	60500050	REMOVING CATCH BASINS	2.00	EACH	\$500.00	\$1,000.00	\$925.00	\$1,850.00	\$650.00	\$1,300.00
		COMBINATION CONCRETE CURB AND								
41	60605000	GUTTER, TYPE B-6.24	919.00	FOOT	\$15.00	\$13,785.00	\$24.00	\$22,056.00	\$28.50	\$26,191.50
42	63000005	STEEL PLATE BEAM GUARDRAIL, TYPE B	456.00	FOOT	\$40.00	\$18,240.00	\$43.35	\$19,767.60	\$31.75	\$14,478.00
		TRAFFIC BARRIER TERMINAL, TYPE 1								
43		(SPECIAL) TANGENT		EACH	\$2,500.00	\$10,000.00	\$2,362.70	\$9,450.80	\$2,135.00	\$8,540.00
44		GUARDRAIL REMOVAL	605.00		\$6.00	\$3,630.00	\$5.55	\$3,357.75	\$11.00	\$6,655.00
45		MOBILIZATION		L SUM	\$20,000.00	\$20,000.00	\$73,500.00	\$73,500.00	\$67,495.00	\$67,495.00
46	70106800	CHANGEABLE MESSAGE SIGN	3.00	CAL MO	\$1,250.00	\$3,750.00	\$1,250.00	\$3,750.00	\$1,250.00	\$3,750.00



Project: Quentin Road Resurfacing

Section: 10-00090-14-RS

Description: Resurfacing of Quentin from Route 22 to Old McHenry Road including 1000 feet along Old McHenry Road

Item No.	Pay Code	Description	Quantity	Unit	Eng Est	imata	Curran Contrac	ting Company	Peter Baker &	Son Company
item ivo.	1 ay couc		Quantity	Onic	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
47	70300100	SHORT TERM PAVEMENT MARKING	5,550.00	FOOT	\$0.40	\$2,220.00	\$1.40	\$7,770.00	\$0.50	\$2,775.00
		TEMPORARY PAVEMENT MARKING LETTERS								
48	70300210	AND SYMBOLS	880.00	SQ FT	\$2.00	\$1,760.00	\$0.01	\$8.80	\$0.01	\$8.80
		TEMPORARY PAVEMENT MARKING - LINE 4"								
49	70300220		34,792.00	FOOT	\$0.25	\$8,698.00	\$0.01	\$347.92	\$0.01	\$347.92
		TEMPORARY PAVEMENT MARKING - LINE 6"								
50	70300240		4,176.00	FOOT	\$0.40	\$1,670.40	\$0.01	\$41.76	\$0.01	\$41.76
		TEMPORARY PAVEMENT MARKING - LINE 12"								
51	70300260		1,720.00	FOOT	\$0.75	\$1,290.00	\$0.01	\$17.20	\$0.01	\$17.20
		TEMPORARY PAVEMENT MARKING - LINE 24"			4	4		4		4
52			288.00		\$1.50	\$432.00	\$0.01	\$2.88	\$0.01	\$2.88
53		PAVEMENT MARKING TAPE, TYPE III 6"	200.00	F001	\$1.50	\$300.00	\$1.50	\$300.00	\$2.50	\$500.00
F.4		WORK ZONE PAVEMENT MARKING	000.00	COLT	¢2.00	¢2.400.00	¢1.00	¢000.00	¢1.00	¢000.00
54	70301000	THERMOPLASTIC PAVEMENT MARKING -	800.00	SQFI	\$3.00	\$2,400.00	\$1.00	\$800.00	\$1.00	\$800.00
		LETTERS AND SYMBOLS	525.00	SO ET	\$0.50	\$262.50	\$4.00	\$2,100.00	\$4.00	\$2,100.00
33		THERMOPLASTIC PAVEMENT MARKING -	323.00	30,11	\$0.50	\$202.30	\$4.00	\$2,100.00	Ş4.00	\$2,100.00
56	78000200		17,483.00	FOOT	\$0.60	\$10,489.80	\$0.55	\$9,615.65	\$0.55	\$9,615.65
30		THERMOPLASTIC PAVEMENT MARKING -	17,100.00		φοισσ	\$10,103.00	φ0.55	ψ5/015.05	γοιοσ	ψ3,013.03
57	78000400		2,042.00	FOOT	\$1.50	\$3,063.00	\$1.00	\$2,042.00	\$1.00	\$2,042.00
		THERMOPLASTIC PAVEMENT MARKING -	,		,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		1 /2	,	1 /2 22
58	78000600	LINE 12"	871.00	FOOT	\$2.75	\$2,395.25	\$2.00	\$1,742.00	\$2.00	\$1,742.00
		THERMOPLASTIC PAVEMENT MARKING -								
59	78000650	LINE 24"	144.00	FOOT	\$1.00	\$144.00	\$4.00	\$576.00	\$4.00	\$576.00
60	78001120	PAINT PAVEMENT MARKING - LINE 5"	13,411.00	FOOT	\$0.40	\$5,364.40	\$0.35	\$4,693.85	\$0.35	\$4,693.85
61	78100100	RAISED REFLECTIVE PAVEMENT MARKER	40.00	EACH	\$15.00	\$600.00	\$62.00	\$2,480.00	\$62.00	\$2,480.00
62	78200420	GUARDRAIL MARKERS, TYPE B	19.00	EACH	\$15.00	\$285.00	\$9.95	\$189.05	\$8.00	\$152.00
63		TERMINAL MARKER - DIRECT APPLIED	4.00	EACH	\$40.00	\$160.00	\$28.95	\$115.80	\$30.00	\$120.00
		RAISED REFLECTIVE PAVEMENT MARKER								
64	78300200	REMOVAL	40.00	EACH	\$10.00	\$400.00	\$4.00	\$240.00	\$10.00	\$600.00



Project: Quentin Road Resurfacing

Section: 10-00090-14-RS

Description: Resurfacing of Quentin from Route 22 to Old McHenry Road including 1000 feet along Old McHenry Road

		Description								
Item No.	Pay Code		Quantity	Unit	Eng Est		Curran Contrac		Peter Baker &	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
65	88600600	DETECTOR LOOP REPLACEMENT	1,237.00	FOOT	\$15.00	\$18,555.00	\$15.00	\$18,555.00	\$15.90	\$19,668.30
66	MX602345	DROP MANHOLE, TYPE A (SPECIAL)	1.00	EACH	\$5,000.00	\$5,000.00	\$6,250.00	\$6,250.00	\$14,350.00	\$14,350.00
67	X0325366	STORM SEWER REPAIR	77.00	FOOT	\$166.75	\$12,839.75	\$630.00	\$48,510.00	\$386.00	\$29,722.00
68	X0325405	FILL EXISTING STORM SEWER	1.00	CU YD	\$1,000.00	\$1,000.00	\$3,400.00	\$3,400.00	\$925.00	\$925.00
69	X0326862	STRUCTURES TO BE ADJUSTED	9.00	EACH	\$500.00	\$4,500.00	\$845.00	\$7,605.00	\$400.00	\$3,600.00
		TEMPORARY ACCESS (PRIVATE ENTRANCE)								
70	X4021000		37.00	EACH	\$100.00	\$3,700.00	\$164.55	\$6,088.35	\$175.00	\$6,475.00
		HOT-MIX ASPHALT SURFACE REMOVAL,								
71	X4401198	VARIABLE DEPTH	713.00	SQ YD	\$30.00	\$21,390.00	\$3.50	\$2,495.50	\$3.20	\$2,281.60
72	X5121800	PERMANENT STEEL SHEET PILING	2,445.00	SQ FT	\$50.00	\$122,250.00	\$48.10	\$117,604.50	\$43.00	\$105,135.00
		ENGINEER'S FIELD OFFICE, TYPE A								
73	X6700405	(MODIFIED)	6.00	CAL MO	\$1,750.00	\$10,500.00	\$750.00	\$4,500.00	\$1,500.00	\$9,000.00
		TRAFFIC CONTROL AND PROTECTION,								
74	X7010216	(SPECIAL)	1.00	L SUM	\$40,000.00	\$40,000.00	\$25,000.00	\$25,000.00	\$9,840.00	\$9,840.00
		PAINT PAVEMENT MARKING - RAISED								
75	X7800100	MEDIAN	261.00	SQ FT	\$2.00	\$522.00	\$1.00	\$261.00	\$1.00	\$261.00
76	XX000856	MAILBOX REMOVAL AND RELOCATION	1.00	EACH	\$150.00	\$150.00	\$500.00	\$500.00	\$500.00	\$500.00
77	XX003668	PRECONSTRUCTION VIDEO TAPING	1.00	L SUM	\$5,000.00	\$5,000.00	\$2,200.00	\$2,200.00	\$1,700.00	\$1,700.00
78	XX006343	SEEDING (COMPLETE)	1,533.00	SQ YD	\$15.00	\$22,995.00	\$6.35	\$9,734.55	\$6.35	\$9,734.55
79	XX006658	FLOCCULATION LOGS	5.00	EACH	\$200.00	\$1,000.00	\$250.00	\$1,250.00	\$250.00	\$1,250.00
80	XX006659	FLOCCULATION POWDER	20.00	POUND	\$50.00	\$1,000.00	\$40.00	\$800.00	\$40.00	\$800.00
81	Z0010600	CLEANING DRAINAGE SYSTEM	100.00	FOOT	\$25.00	\$2,500.00	\$31.00	\$3,100.00	\$6.00	\$600.00
82	Z0018500	DRAINAGE STRUCTURES TO BE CLEANED	4.00	EACH	\$300.00	\$1,200.00	\$1,050.00	\$3,150.00	\$425.00	\$1,275.00
		DRAINAGE STRUCTURES TO BE								
83	Z0018600	RECONSTRUCTED	1.00	EACH	\$1,000.00	\$1,000.00	\$1,565.00	\$1,565.00	\$985.00	\$985.00
84	Z0030850	TEMPORARY INFORMATION SIGNING	78.00	SQ FT	\$20.00	\$1,560.00	\$20.00	\$1,560.00	\$20.00	\$1,560.00
85	Z0062456	TEMPORARY PAVEMENT	183.00	SQ YD	\$30.00	\$5,490.00	\$71.15	\$13,020.45	\$35.75	\$6,542.25
		MAINTENANCE OF TEMPORARY EROSION								
86	LC200501	CONTROL SYSTEMS	7,917.00	UNIT	\$1.00	\$7,917.00	\$1.00	\$7,917.00	\$1.00	\$7,917.00



Project: Quentin Road Resurfacing

Section: 10-00090-14-RS

Description: Resurfacing of Quentin from Route 22 to Old McHenry Road including 1000 feet along Old McHenry Road

	,									
		Description								
Item No	. Pay Code		Quantity	Unit	Eng Estimate		Curran Contracting Company		Peter Baker & Son Company	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
		BUTT JOINT FOR ENTRANCE RESURFACIN	IG							
8	7 LC400100		89.00	FEET	\$30.00	\$2,670.00	\$26.35	\$2,345.15	\$16.75	\$1,490.75
88	8 LC600200	INSTALL SURVEY MONUMENTS	8.00	EACH	\$1,600.00	\$12,800.00	\$600.00	\$4,800.00	\$375.00	\$3,000.00
		Bid 1	Total			\$1,917,913.60		\$1,493,530.28		\$1,325,052.23



Project: Quentin Road Resurfacing

Section: 10-00090-14-RS

Description: Resurfacing of Quentin from Route 22 to Old McHenry Road including 1000 feet along Old McHenry Road

					Eng Est	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20200100	EARTH EXCAVATION	171	CU YD	\$25.00	\$4,275.00	\$19.25	\$40.00	\$29.63
		EXCAVATING AND GRADING EXISTING							
2	20200600	SHOULDER	52	UNIT	\$15.00	\$780.00	\$270.05	\$290.00	\$280.03
3	20400800	FURNISHED EXCAVATION	100	CU YD	\$20.00	\$2,000.00	\$46.00	\$63.50	\$54.75
4	20800150	TRENCH BACKFILL	40	CU YD	\$45.00	\$1,800.00	\$37.50	\$45.00	\$41.25
5	21301052	EXPLORATION TRENCH 52" DEPTH	10	FOOT	\$50.00	\$500.00	\$30.00	\$355.00	\$192.50
6	25200200	SUPPLEMENTAL WATERING	20	UNIT	\$200.00	\$4,000.00	\$0.10	\$0.10	\$0.10
7	28000305	TEMPORARY DITCH CHECKS	56	FOOT	\$15.00	\$840.00	\$13.50	\$22.00	\$17.75
8	28000510	INLET FILTERS	21	EACH	\$250.00	\$5,250.00	\$75.00	\$150.00	\$112.50
9	28100101	STONE RIPRAP, CLASS A1	55	SQ YD	\$50.00	\$2,750.00	\$37.00	\$95.00	\$66.00
10	28100801	STONE DUMPED RIPRAP, CLASS A1	20	TON	\$20.00	\$400.00	\$95.00	\$115.00	\$105.00
11	28200200	FILTER FABRIC	78	SQ YD	\$8.00	\$624.00	\$5.00	\$5.00	\$5.00
12	35100300	AGGREGATE BASE COURSE, TYPE A 4"	291	SQ YD	\$12.00	\$3,492.00	\$11.60	\$24.00	\$17.80
		PORTLAND CEMENT CONCRETE BASE COURSE							
13	35300400	9"	186	SQ YD	\$40.00	\$7,440.00	\$54.00	\$70.00	\$62.00
14	40300100	BITUMINOUS MATERIALS (PRIME COAT)	6,517	GALLON	\$1.50	\$9,775.50	\$0.01	\$0.01	\$0.01
		MIXTURE FOR CRACKS, JOINTS, AND							
15	40600400	FLANGEWAYS	5	TON	\$300.00	\$1,500.00	\$450.00	\$473.50	\$461.75
16	40600895	CONSTRUCTING TEST STRIP	2	EACH	\$2,000.00	\$4,000.00	\$1.00	\$1.00	\$1.00



Project: Quentin Road Resurfacing

Section: 10-00090-14-RS

Description: Resurfacing of Quentin from Route 22 to Old McHenry Road including 1000 feet along Old McHenry Road

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
		HOT-MIX ASPHALT SURFACE REMOVAL - BUTT							
17	40600982	JOINT	894	SQ YD	\$30.00	\$26,820.00	\$8.00	\$14.55	\$11.28
18	40600990	TEMPORARY RAMP	894	SQ YD	\$30.00	\$26,820.00	\$1.00	\$12.20	\$6.60
		HOT-MIX ASPHALT BINDER COURSE, IL-19.0,							
19	40603085	N70	4,883	TON	\$65.00	\$317,395.00	\$53.75	\$62.00	\$57.88
		HOT-MIX ASPHALT SURFACE COURSE, MIX							
20	40603340	"D", N70	3,560	TON	\$68.00	\$242,080.00	\$68.45	\$74.00	\$71.23
21	42001300	PROTECTIVE COAT	342	SQ YD	\$3.00	\$1,026.00	\$2.00	\$3.00	\$2.50
		PORTLAND CEMENT CONCRETE SIDEWALK 5							
22	42400200	INCH	277	SQ FT	\$8.00	\$2,216.00	\$7.00	\$10.00	\$8.50
23	42400800	DETECTABLE WARNINGS	30	SQ FT	\$20.00	\$600.00	\$30.00	\$40.00	\$35.00
24	44000100	PAVEMENT REMOVAL	435	SQ YD	\$12.00	\$5,220.00	\$13.25	\$16.00	\$14.63
25	44000457	LIOT MANY ACRUMENT CUREAGE REMANDIAL OF	1.501	60.115	40.00	440 500 00	4440	4	44.00
25	44000157	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	1,691	SQ YD	\$8.00	\$13,528.00	\$4.10	\$5.55	\$4.83
26	44000167	HOT-MIX ASPHALT SURFACE REMOVAL, 4 1/2"	30,179	SO YD	\$16.00	\$482,864.00	\$3.35	\$3.80	\$3.58
20	11000107	THE THINK TOTAL TOTAL THE TREET THE TREET THE	30,173	54.15	Ψ10.00	φ 102)00 1100	ψ3.33	ψ3.00	φ3.30
27	44000500	COMBINATION CURB AND GUTTER REMOVAL	54	FOOT	\$10.00	\$540.00	\$10.00	\$20.00	\$15.00
28	44000600	SIDEWALK REMOVAL	279	SQ FT	\$3.00	\$837.00	\$3.00	\$3.50	\$3.25
29	44201761	CLASS D PATCHES, TYPE I, 10 INCH	652	SQ YD	\$46.00	\$29,992.00	\$30.00	\$35.00	\$32.50



Project: Quentin Road Resurfacing

Section: 10-00090-14-RS

Description: Resurfacing of Quentin from Route 22 to Old McHenry Road including 1000 feet along Old McHenry Road

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
30	44201765	CLASS D PATCHES, TYPE II, 10 INCH	977	SQ YD	\$46.00	\$44,942.00	\$30.00	\$34.00	\$32.00
31	44201769	CLASS D PATCHES, TYPE III, 10 INCH	2,933	SQ YD	\$46.00	\$134,918.00	\$30.00	\$33.00	\$31.50
32	44201771	CLASS D PATCHES, TYPE IV, 10 INCH	1,955	SQ YD	\$46.00	\$89,930.00	\$30.00	\$32.00	\$31.00
		STRIP REFLECTIVE CRACK CONTROL							
33	44300200	TREATMENT	15,585	FOOT	\$0.80	\$12,468.00	\$0.49	\$1.35	\$0.92
34	48100100	AGGREGATE SHOULDERS, TYPE A	207	TON	\$45.00	\$9,315.00	\$36.75	\$40.00	\$38.38
35	550A0050	STORM SEWERS, CLASS A, TYPE 1, 12"	41	FOOT	\$46.00	\$1,886.00	\$125.00	\$160.00	\$142.50
36	55100500	STORM SEWER REMOVAL, 12"	33	FOOT	\$14.00	\$462.00	\$40.00	\$47.50	\$43.75
		CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 24							
37	60201340	FRAME AND GRATE	2	EACH	\$3,000.00	\$6,000.00	\$3,800.00	\$3,950.00	\$3,875.00
38	60406000	FRAMES AND LIDS, TYPE 1, OPEN LID	1	EACH	\$250.00	\$250.00	\$450.00	\$495.00	\$472.50
39	60406100	FRAMES AND LIDS, TYPE 1, CLOSED LID	2	EACH	\$250.00	\$500.00	\$450.00	\$495.00	\$472.50
40	60500050	REMOVING CATCH BASINS	2	EACH	\$500.00	\$1,000.00	\$650.00	\$925.00	\$787.50
		COMBINATION CONCRETE CURB AND							
41	60605000	GUTTER, TYPE B-6.24	919	FOOT	\$15.00	\$13,785.00	\$24.00	\$28.50	\$26.25
42	63000005	STEEL PLATE BEAM GUARDRAIL, TYPE B	456	FOOT	\$40.00	\$18,240.00	\$31.75	\$43.35	\$37.55
		TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL)							
43	63100167	TANGENT	4	EACH	\$2,500.00	\$10,000.00	\$2,135.00	\$2,362.70	\$2,248.85
44	63200310	GUARDRAIL REMOVAL	605	FOOT	\$6.00	\$3,630.00	\$5.55	\$11.00	\$8.28
45	67100100	MOBILIZATION	1	L SUM	\$20,000.00	\$20,000.00	\$67,495.00	\$73,500.00	\$70,497.50



Project: Quentin Road Resurfacing

Section: 10-00090-14-RS

Description: Resurfacing of Quentin from Route 22 to Old McHenry Road including 1000 feet along Old McHenry Road

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
46	70106800	CHANGEABLE MESSAGE SIGN	3	CAL MO	\$1,250.00	\$3,750.00	\$1,250.00	\$1,250.00	\$1,250.00
47	70300100	SHORT TERM PAVEMENT MARKING	5,550	FOOT	\$0.40	\$2,220.00	\$0.50	\$1.40	\$0.95
		TEMPORARY PAVEMENT MARKING LETTERS							
48	70300210	AND SYMBOLS	880	SQ FT	\$2.00	\$1,760.00	\$0.01	\$0.01	\$0.01
49	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	34,792	FOOT	\$0.25	\$8,698.00	\$0.01	\$0.01	\$0.01
.5	70000==0		0 .,. 0 =		φο.Ξο	40,000.00	φσ.σΞ	φσ.σΞ	φσ.σ_
50	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	4,176	FOOT	\$0.40	\$1,670.40	\$0.01	\$0.01	\$0.01
51	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	1,720	FOOT	\$0.75	\$1,290.00	\$0.01	\$0.01	\$0.01
52	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	288	FOOT	\$1.50	\$432.00	\$0.01	\$0.01	\$0.01
53	70300540	PAVEMENT MARKING TAPE, TYPE III 6"	200	FOOT	\$1.50	\$300.00	\$1.50	\$2.50	\$2.00
54	70301000	WORK ZONE PAVEMENT MARKING REMOVAL	800	SQ FT	\$3.00	\$2,400.00	\$1.00	\$1.00	\$1.00
		THERMOPLASTIC PAVEMENT MARKING -							
55	78000100	LETTERS AND SYMBOLS	525	SQ FT	\$0.50	\$262.50	\$4.00	\$4.00	\$4.00
		THERMOPLASTIC PAVEMENT MARKING - LINE							
56	78000200	4"	17,483	FOOT	\$0.60	\$10,489.80	\$0.55	\$0.55	\$0.55



Project: Quentin Road Resurfacing

Section: 10-00090-14-RS

Description: Resurfacing of Quentin from Route 22 to Old McHenry Road including 1000 feet along Old McHenry Road

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
		THERMOPLASTIC PAVEMENT MARKING - LINE							
57	78000400	6"	2,042	FOOT	\$1.50	\$3,063.00	\$1.00	\$1.00	\$1.00
		THERMOPLASTIC PAVEMENT MARKING - LINE							
58	78000600	12"	871	FOOT	\$2.75	\$2,395.25	\$2.00	\$2.00	\$2.00
		THERMOPLASTIC PAVEMENT MARKING - LINE							
59	78000650	24"	144	FOOT	\$1.00	\$144.00	\$4.00	\$4.00	\$4.00
60	78001120	PAINT PAVEMENT MARKING - LINE 5"	13,411	FOOT	\$0.40	\$5,364.40	\$0.35	\$0.35	\$0.35
61	78100100	RAISED REFLECTIVE PAVEMENT MARKER	40	EACH	\$15.00	\$600.00	\$62.00	\$62.00	\$62.00
62	78200420	GUARDRAIL MARKERS, TYPE B	19	EACH	\$15.00	\$285.00	\$8.00	\$9.95	\$8.98
63	78201000	TERMINAL MARKER - DIRECT APPLIED	4	EACH	\$40.00	\$160.00	\$28.95	\$30.00	\$29.48
		RAISED REFLECTIVE PAVEMENT MARKER							
64	78300200	REMOVAL	40	EACH	\$10.00	\$400.00	\$4.00	\$10.00	\$7.00
65	88600600	DETECTOR LOOP REPLACEMENT	1,237	FOOT	\$15.00	\$18,555.00	\$15.00	\$15.90	\$15.45
66	MX602345	DROP MANHOLE, TYPE A (SPECIAL)	1	EACH	\$5,000.00	\$5,000.00	\$6,250.00	\$14,350.00	\$10,300.00
67	X0325366	STORM SEWER REPAIR	77	FOOT	\$166.75	\$12,839.75	\$386.00	\$630.00	\$508.00
68	X0325405	FILL EXISTING STORM SEWER	1	CU YD	\$1,000.00	\$1,000.00	\$925.00	\$3,400.00	\$2,162.50
69	X0326862	STRUCTURES TO BE ADJUSTED	9	EACH	\$500.00	\$4,500.00	\$400.00	\$845.00	\$622.50
70	X4021000	TEMPORARY ACCESS (PRIVATE ENTRANCE)	37	EACH	\$100.00	\$3,700.00	\$164.55	\$175.00	\$169.78



Project: Quentin Road Resurfacing

Section: 10-00090-14-RS

Description: Resurfacing of Quentin from Route 22 to Old McHenry Road including 1000 feet along Old McHenry Road

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
		HOT-MIX ASPHALT SURFACE REMOVAL,							
71	X4401198	VARIABLE DEPTH	713	SQ YD	\$30.00	\$21,390.00	\$3.20	\$3.50	\$3.35
72	X5121800	PERMANENT STEEL SHEET PILING 2,445 S		SQ FT	\$50.00	\$122,250.00	\$43.00	\$48.10	\$45.55
73	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	6	CAL MO	\$1,750.00	\$10,500.00	\$750.00	\$1,500.00	\$1,125.00
		TRAFFIC CONTROL AND PROTECTION,							
74	X7010216	(SPECIAL)	1	L SUM	\$40,000.00	\$40,000.00	\$9,840.00	\$25,000.00	\$17,420.00
75	X7800100	PAINT PAVEMENT MARKING - RAISED MEDIAN	261	SQ FT	\$2.00	\$522.00	\$1.00	\$1.00	\$1.00
76	XX000856	MAILBOX REMOVAL AND RELOCATION	1	EACH	\$150.00	\$150.00	\$500.00	\$500.00	\$500.00
77	XX003668	PRECONSTRUCTION VIDEO TAPING	1	L SUM	\$5,000.00	\$5,000.00	\$1,700.00	\$2,200.00	\$1,950.00
78	XX006343	SEEDING (COMPLETE)	1,533	SQ YD	\$15.00	\$22,995.00	\$6.35	\$6.35	\$6.35
79	XX006658	FLOCCULATION LOGS	5	EACH	\$200.00	\$1,000.00	\$250.00	\$250.00	\$250.00
80	XX006659	FLOCCULATION POWDER	20	POUND	\$50.00	\$1,000.00	\$40.00	\$40.00	\$40.00
81	Z0010600	CLEANING DRAINAGE SYSTEM	100	FOOT	\$25.00	\$2,500.00	\$6.00	\$31.00	\$18.50
82	Z0018500	DRAINAGE STRUCTURES TO BE CLEANED	4	EACH	\$300.00	\$1,200.00	\$425.00	\$1,050.00	\$737.50
		DRAINAGE STRUCTURES TO BE							
83	Z0018600	RECONSTRUCTED	1	EACH	\$1,000.00	\$1,000.00	\$985.00	\$1,565.00	\$1,275.00
84	Z0030850	TEMPORARY INFORMATION SIGNING	78	SQ FT	\$20.00	\$1,560.00	\$20.00	\$20.00	\$20.00
85	Z0062456	TEMPORARY PAVEMENT	183	SQ YD	\$30.00	\$5,490.00	\$35.75	\$71.15	\$53.45



Project: Quentin Road Resurfacing

Section: 10-00090-14-RS

Description: Resurfacing of Quentin from Route 22 to Old McHenry Road including 1000 feet along Old McHenry Road

					Eng Estimate				
Item No	. Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
		MAINTENANCE OF TEMPORARY EROSION							
86	6 LC200501	CONTROL SYSTEMS	7,917	UNIT	\$1.00	\$7,917.00	\$1.00	\$1.00	\$1.00
87	7 LC400100	BUTT JOINT FOR ENTRANCE RESURFACING	89 FEET		\$30.00	\$2,670.00	\$16.75	\$26.35	\$21.55
88	3 LC600200	INSTALL SURVEY MONUMENTS	8	EACH	\$1,600.00	\$12,800.00	\$375.00	\$600.00	\$487.50
		Bid Total				\$1,917,913.60			